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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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HTHTT (3597

(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

34 J97-Y7 %1 Giel Y777, 3, &, G, ¢ 3N T H FieT T 3 | 9] @4 9T &
o] & IR forad & |

Tt go7 ST & |

YT &, &, 7 IR T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 G&IT 1 3K 2 TH-TF 3% & Y97 & | 398 I U Ieg 7Ial
T JFTH 378 )

T F & J97 G&IT 3 & 5 31-31 37hl & F97 & | 579 I TTHT 30 Jeg] i
F378 1

YT G & Y97 &I 6 & 15 AH-d17 37l & I3 & | 598 I TTHT 50 Jse)
JdH G 7 8 |

YT 7 % 97 G&IT 16 T 21 i9-9i9 37h] & I3 & | 598 I FTYHT 70 5!
Jdb § 378/

YT T 3 Y97 G&IT 22 G 27 FINTIHF FHI9eT T SR -2 371 & J97 8 |

5% G I T 8/

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A

1. et aered i Sega wfctigshar 1 aftam forfae | 1

Define the term electrical resistivity of a material.

2. Torsll WIas & QI Y@ ©cehl shi T TARY | 1

List two main components of an ecosystem.

qr
SECTION B

3. A i 1 B & ? A Ak W SraTen § fagq wen w9 W R 2 2

What are ionic compounds ? Why do ionic compounds not conduct
electricity in the solid state ?

4.  FER % IR AR forelt yam i gig # it fore TR 8™ Bd 3 ? 2
AYAT
dfest 311aT ford e & 2 Tohdfl Sfia & iR & e e oo fopeht afemt atmem
%1 fezm =1 3g@ HifST | 2
How do auxins promote the growth of a tendril around a support ?
OR

What is a nerve impulse ? State the direction followed by a nerve impulse
while travelling in the body of an organism.

5. TIT® IATHI 1 JUT el FA1 BT § 2 2
Why is the colour of the clear sky blue ?

e
SECTION C

6.  H*(aq) I < Higdl < foei@q 1 Thid T THE I 3@ HifT | FIT dR
ot & off Ht(aq) 94 810 8 2afe W 8, af T 3 el == g § 2 3

State the effect of concentration of H*(aq) ions on the nature of the
solution. Do basic solutions also have H*(aq) ions ? If yes, then why are
these basic ?

131/3/1 3 P.T.O.
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10.

11.

12.

@ g1t P, Q 3R R U, P ! Afshaar Q & 0 § 49T R sl @fshaar P 31 Q
gl O At 3 | HIE vE TRy gemse ek g P, Q 3R R Wl 3
Hel g3 |shAAT o HH H SASTEAT oA ST Hehell @ |

A
Hehll o 3T9Fh I AW faRau | Fgfctd TE FHIRT i TERIAr § Wendl
i 3G FIEh T TIsnia e it gfshan it samen Hifse |

Out of three metals P, Q and R, P is less reactive than Q and R is more
reactive than P and Q both. Suggest an activity to arrange P, Q and R in
order of their decreasing reactivity.

OR
Name the ore of mercury. With the help of balanced chemical equations,
explain the process of extraction of mercury from its ore.

“fenel TSR % fotu fopelt dwar w1 WHTY] ShHT 3W O o UTHTY] GEHM

HI g B e ITYH e T AT B 17 aw X (TH AT 13) H
ISR TR 38 e hi gfse i |

“Atomic number of an element is considered to be a more appropriate
parameter than its atomic mass for a chemist.” Take the example of the
element X (atomic number 13) to justify this statement.

e eF % IR HIE! hl gt IAEY | I IRK § g0 IRE=ior =i Aaweh
77

List four functions of the human heart. Why is double circulation
necessary in the human body ?

STl hl SRR ToraT FHl T 7RIS o [oRGUSH o Ti hl AT HiT |

Explain the ways in which glucose is broken down in absence or shortage
of oxygen.

aTfeTehl o &9 | ymfeassh 3R STAfCTSh o g fF faugTsrl deon 6 g=h
T |

List in tabular form three distinguishing features between cerebrum and
cerebellum.

fafafgd b samen i :

(a)  STfd-3gued
(b)  STehldeh ==

AT

317311 4
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Hed | "X o WGl % @1 R MU WA § ¥ TH WA H A S a3
Fler e aret 7e & N it faftre foFemt =1 detor U= | 38 "R g Fy
R F, N § e didi % A % Y&l 1 SR Higd Ig@ T | e S
o Afdfs Hued gra g o o 3w e u foRedl @ fawafelt (foepedt)
AU AT TeX o et shi g oft SIS | 3
Explain the following :
(a)  Speciation
(b)  Natural Selection

OR

Mendel, in one of his experiments with pea plants, crossed a variety of
pea plant having round seeds with one having wrinkled seeds. State
Mendel’s observations giving reasons of F'; and Fy progeny of this cross.
Also, list any two contrasting characters, other than round seeds of pea
plants that Mendel used in his experiments.

13. SO (9dd fordl shgd @ 2 AHifehd 3@ <hl AT © gredl shifoiw fom
ety # fe@rg o arel et A <l et sueht aredfess feufa & it B | 3
arera
He § JS forell BT Fl I8 TH Fd Had ¢ b 98 Mehege Av @ fifea 2 259
T o QI HRON h G TARY | TR 3@ T ITAN Heh A7 h 9 N h
TN o 3T 6T AT HIfT | 3

What is atmospheric refraction ? Explain with the help of a labelled

diagram that the position of a star as seen by us is not its true position.
OR

When do we consider a student sitting in the class to be myopic ? List two

causes of this defect. Explain using a ray diagram how this defect of eye

can be corrected.

14. 3 Q a1 drdl S g sEC g  FeliehoiE A € | 379 =A<l gfee
R | F A T E TG g A T § 2 e I 1 g % R @)
ST I g FET | 3
Name two energy sources that you would consider to be renewable. Give

justification for your choices. Can these energy sources be pollution free ?
List two reasons in support of your answer.

15. o & “Sa fafauar w1 fafrse Ta@” =& 79 STar g 2 a4 6 SE o o
IR 34T TS | 3
Why are forests considered “biodiversity hot spots” ? Suggest four
approaches towards the conservation of forests.

131/3/1 5 P.T.O.
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16.

17.

(a)
(b)

(a)

(b)
(c)

(a)
(b)

(a)

(b)

(c)

(a)

(b)

(a)

(b)

317311

W
SECTION D

feforemom rfufsren fordt waa 2 2 forelt SeTewor wfea samen Hifs |
et sfiet o o It Rt e ot g1 =1 < 3o " fires e R
() B arel srfufsean o 9m 3t Sgehl gftam fefley |
(i) 3T ATufRa 1 Fgfora TEET AHIRET R §94 9Tel 341G

&1 qEfe am fafgu |
(i) 39 AT & &1 yg@ Jeon i T SR |

BPC]

e AEde H rumed (forom) arfufsran 1 freffa @ & fog ferdht
foramererTa 61 31firhedaT FifST |
TN SAFET ST AHIfhd TG Tiaht g Tg@ Il shi gl ST |
HAfvepriss 3R Icargl 1 Wifoeh faee H1 IP@ Hd FL BH A
arffsran w1 Tgfera Tamfie T fafen |

What is a double displacement reaction ? Explain with an example.

A small amount of quick lime is added to water in a beaker.
1) Name and define the type of reaction that has taken place.

(i1))  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

(111) List two main observations of this reaction.
OR

Design an activity to demonstrate the decomposition reaction of
lead nitrate.

Draw labelled diagram of the experimental set-up. List two main
observations.

Write balanced chemical equation for the reaction stating the
physical state of the reactant and the products.

Y% b ot THEte i foeet weedisr 3R HTeHieht
srfufspanati & = fades Hifsw |

e hi warmeen # foREl TR T 9941 e & fu Shig TRty
fafgu |

Distinguish between esterification and saponification reactions
with the help of chemical equation for each.

Write an activity to show the formation of an ester in a school
laboratory.
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19.

20.

(a)

(b)

(a)

(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)

(b)

(a)

(b)

3131

S Rl e § 2 36 3 TR B g e |
TR Sl 3 SRR S § S e e SR
Bt & 2

AT

<ifireh G T (STD) 91 Bid 8 2 & Sy Sifa 3 & arE dshiia
iR F=ia Wt <Al T TA1ET |

T Ty fRE SEd 8 2 T MUY U i ST9A % diF RO <l =
ERIE

What is reproduction ? List its two types.

How are the modes of reproduction different in unicellular and
multicellular organisms ?

OR
What are Sexually Transmitted Diseases (STD) ? List two viral
and two bacterial STDs.
What is contraception ? List three reasons for adopting
contraceptive methods.

THAA gduIl T o Sfdferst & =R afieret < gt SIS |
ﬁ5cmﬁﬁm30cm®w@%%ﬁwm@200m@
R foud 2 | g0 g9 1 I e o4 arel Sidters 6l feafa sk
arew fgifia HiT |

List four characteristics of the images formed by plane mirrors.

A 5 cm tall object is placed at a distance of 20 cm from a concave
mirror of focal length 30 cm. Use mirror formula to determine the
position and size of the image formed.

Ry, Ry 3R Ry Ufewiei & o9 ufalierss (i) Sofisem ®, q9 (ii) urveishy o
gafd 8 |9@$Wﬁ@ﬁ%§wqﬁﬁa%mm%ﬁq’ql
12 Q & < Ha9d Yfawss 3V <hl fordlt 9t ¥ gaifva & | f=am
gy 3R Afgehay ufeiy o aftomdft T9ieHl gra Uy SRRl o
AT INEhIcTd hIMTT |

St

TETE P 3R ATIEI-FIE FABA ‘A’ o AIHR h{d o TRl =Tereh
% gfeiy MR 3ueh ugrd i dgd Ifeiveha & s gay fafae | 3@
TehT IEd faiegehdl &1 S.I. A Scad i |

5m o fREl a1g & ar @1 gfag 100Q B | AR TW AR A
IITY-HIC HT &% 3 x 107 m? B, a1 &g il Ifatrerehar qierford
HIT |

7 P.T.O.
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21.

22.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Three resistors of resistances R;, Ro and Rg are connected (i) in
series, and (ii) in parallel. Write expressions for the equivalent
resistance of the combination in each case.

Two identical resistors of 12 Q each are connected to a battery of
3 V. Calculate the ratio of the power consumed by the resulting
combinations with minimum resistance and maximum resistance.

OR

Write the relation between resistance and electrical resistivity of
the material of a conductor in the shape of a cylinder of length ‘’
and area of cross-section ‘A’. Hence derive the S.I. unit of electrical
resistivity.

Resistance of a metal wire of length 5 m is 100 Q. If the area of
cross-section of the wire is 3 x 10~/ m?, calculate the resistivity of
the metal.

Torell ThuTT IrEhi &9 T & o oredq e gRETel € @Tetsh g
Iya fopu I aTet st i feem fgifa & art fm &1 9w s fem
fafeT |

foIq Hiet 1 HIfohd 3TR@ W |

Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed in a
uniform magnetic field which is perpendicular to it.

Draw a labelled diagram of an electric motor.

IR
SECTION E

1 SRl H B Hohe o faersd W § SR T Tk H IO ol Wl SR g H
tqfufem < ot STe % AT 1 Hue % geTd @ Yo g 2 A W H w
Uierde IR ST g, df 8 arefl rfufsee o Am qen Afifsear 1 wEmafe
grtertor oft fafau |

AT

g B B Tohe fohteat oo forgven (fornem) ifufsean &1 srem e

ITEdT & | 39 YA hl hid 99T 3Teh gl Sdl ST a7l e Fraant=ar fafay |
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23.

24.

What is observed after about 1 hour of adding the strips of copper and
aluminium separately to ferrous sulphate solution filled in two beakers ?
Name the reaction if any change in colour is noticed. Also, write chemical

equation for the reaction.

OR

A student wants to study a decomposition reaction by taking ferrous
sulphate crystals. Write two precautions he must observe while

performing the experiment.

THTgeh 3TFet o el fqu MU T[uremt 1 31eeH Shid Tud o119 o1 fsep fepretnt

3Rl gl 8T ¢

(a) WY

(b) & H focmar

(¢ Torem® w3 @ ywma

(@) Tfsam gEgion S & oy rfufsen

List the conclusions you will draw while studying the following properties

of ethanoic acid :

(a)  Odour

(b)  Solubility in water

(c) Effect on litmus paper

(d)  Reaction with sodium hydrogen carbonate

fpeft B A “zama & sy # CO, Fiadt 7 il awia & faw Sush
A L T g | T 1 992 o 99ETq 98 Heht et § St @ ad H his
T &l UTAT | TR <l TFheTdl o & FHTIfd HRur fAfe |

A student has set up an apparatus to show that “CO, is released during

respiration”. After about 1 hour he observes no change in the water level
in the delivery tube. Write two possible reasons for the failure of the

experiment.

9 P.T.O.
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26.

TgT T T8I0 R o fou o<l o et @1 37 ]
B S o I(dNTh & 3T gal ol 3TN hid & | 39 gal o A1 fafgy 31T
3g@ T T I ga o 3 =41 39T fopy I1d B |

AT

3 =R gEgrE Hi 3t wE # g Ss S 9eq g9 Uit o foesh @
SRRt STRIYUT FIR i THT HLd 7 |

In the experiment of preparing a temporary mount of a leaf peel to
observe stomata, we use two liquids other than water. Name these two
liquids and state when and why these liquids are used.

OR

List four precautions in proper sequence which we observe while
preparing a temporary mount of a leaf peel.

fopelt qreyr fovar w1 wftifers STH teh QU TTQ S7ade Ul shi Hiefehe BiehE gl
i T o T i A hI 9 6 =0T H HEER g R |

AT

Toreft ®F &1 UAH i & IR fofye 7 & T ®E & IEdeR w9 9
TR aTeft ehrer feRtur 1 9 STRRad T 7 |

(a) 39 AT I & HEw ol HradTi-i i et SISy |
(b) 38 TN W YTNG B gRT THehlet U ¢ skt <hl Ft ST |

List in proper sequence the steps of the experiment for determining the
approximate focal length of a given concave mirror by obtaining the
image of a distant object.

OR

A student has to trace the path of a ray of light passing through a
rectangular glass slab for four different values of angle of incidence.

(a)  Write two important precautions for this experiment.

(b) List two conclusions the student will draw based on his
experiment.

10
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27. 3RW@ H WU 7Y dicediet o duH W fa=m hifvy it fa=fafad goi o 33
T

15
0 3.0
\Y4
(a)  dlceHIEX T 3TeUdHTeh 941 8 ?

(b)  dlccHIeX I IISATh o1 & 2

(c) Ife I8 dicedier frelt 20 Q & fdtiass & &0 @ gaifea 8, @ gfalys
g fora) g yenfed 21 @@ 2 2

Consider the scale of a voltmeter shown in the diagram and answer the
following questions :

1-5

\%

(a) What is the least count of the voltmeter ?
(b)  What is the reading shown by the voltmeter ?

(c) If this voltmeter is connected across a resistor of 20 Q, how much

current is flowing through the resistor ?

131/3/1 11
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FHAT A B A Toh T AT H 27 T 2 |

AT T 6T I TT@T & T 8 Ugel, T &1 /AT Havd T |

3 YU hl UG o AU 15 e o1 wua feam mn R | S o foraw
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TeT 3R 38 Al o gNH I IT-Yfedent T i IR &l fordw |

Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer
on the answer-book during this period.
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FeiRa 77 : 3 T2 SfeHaTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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HTHTT (3597

(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

34 J97-Y7 %1 Giel Y777, 3, &, G, ¢ 3N T H FieT T 3 | 9] @4 9T &
o] & IR forad & |

Tt go7 ST & |

YT &, &, 7 IR T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 G&IT 1 3K 2 TH-TF 3% & Y97 & | 398 I U Ieg 7Ial
T JFTH 378 )

T F & J97 G&IT 3 & 5 31-31 37hl & F97 & | 579 I TTHT 30 Jeg] i
F378 1

YT G & Y97 &I 6 & 15 AH-d17 37l & I3 & | 598 I TTHT 50 Jse)
JdH G 7 8 |

YT 7 % 97 G&IT 16 T 21 i9-9i9 37h] & I3 & | 598 I FTYHT 70 5!
Jdb § 378/

YT T 3 Y97 G&IT 22 G 27 FINTIHF FHI9eT T SR -2 371 & J97 8 |

5% G I T 8/

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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AT A
SECTION A
1. % 9 d %ed & (o forelt afwer o 1 forgadl & e fawara 1 aice 2 2
When do we say that the potential difference between two points of a
circuit is 1 volt ?

2. IR Ul Tl ol fore Toefl SRR sfEen & fafi =wor fafau | 1

Write various steps of a terrestrial food chain of four trophic levels.

~

WA o
SECTION B
3.  SFCHI o T gHT B3R 3TfeTse sA1 RISy | 2

Show the formation of magnesium oxide by the transfer of electrons.

4. oW #01 g ? UgHg ¥ fifsd 35 TR &1 s $gfaH 1 SolawH goht i

foran SITaT @ 2 2
YT

G435 uredi <l ufrn it nifa gerer i feem # g S fa @ form weew fira

Bt 8 ? 2

What is insulin ? Why are some patients of diabetes treated by giving
injections of insulin ?

OR

How is the movement of leaves of the sensitive plants different from the
movement of a shoot towards light ?

5.  id I TS50 Yad T oA X THaeH 3cdd hidl &, Trg IH1 TR Shid &l
AT ITIATRR T2 1S T 3cUF Tal hLdl | AT 2 2
A glass prism is able to produce a spectrum when white light passes

through it but a rectangular block of same transparent glass does not
produce any spectrum. Why ?

qmr e
SECTION C

6.  ffaior shi Fufela Tan FHl # oehie o for@ved o el 6l e e | 3

Explain the ways in which glucose is broken down in absence or shortage
of oxygen.

3 P.T.O.
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7. WFE TG % IR HE] I I SR | AHE IR H Qe IRE0 T AEwIh
37

List four functions of the human heart. Why is double circulation
necessary in the human body ?

8. (a) HNd HAfEISH & 3T UM 1 W fdfgu I () Vs fhamsti, 3t

(ii) I=a fsranati =l fAfBa a1 3 |
(b) ufefim dfiem a3 w1 w faflgr | 5@ 93 % el & AW I I
3T Tl HI IPW HIT |

(a) Name the part of human brain which controls (i) voluntary actions,
and (ii) involuntary actions.

(b)  Write the function of peripheral nervous system. Name the
components of this system stating their origin.

9. fefafga & samen hifsw

(a)  WTfd-3gwed
(b)  TTeRideh ==

AT

Hed 9 9 o Wl o 1Y fohU U T W W U T H M S a3
FRIGR S 9Tt HeX o didl hi Tafye foredi o1 TRt Sham | $6 HohUl g0 F
3R F, digt # g9 el o Buse o V&0 1 R AfZd 3@ hIfoe | et st
% Afdis Buga gRI 19+ T H 3w fobw T feopedl @1 fawmrfelt (farepedt)
AT AT T o Uit Shi g oft SR |

Explain the following :

(a)  Speciation
(b) Natural Selection

OR
Mendel, in one of his experiments with pea plants, crossed a variety of
pea plant having round seeds with one having wrinkled seeds. State
Mendel’s observations giving reasons of F; and Fy progeny of this cross.
Also, list any two contrasting characters, other than round seeds of pea
plants that Mendel used in his experiments.

10. YIOROT T9aqq o8 had & ? THIhd TG <h! HERIAT ¥ IRy hifoe feh
SAeRTer | fe@rE 23 g foret an <kt fearfa seeh aredfass feafa 981 g1t 2
A>T
%7 H 93 Toreht BT Sl I8 gH He had ¢ b 98 Fehegfee g @ fifsa g 239
T o QA HRON h A FARY | RO @ T ITIN Ik A % 39 QY b
YA o 39 hl SFRedT HIfSu |

317312 4
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bic]
ElEd
What is atmospheric refraction ? Explain with the help of a labelled
diagram that the position of a star as seen by us is not its true position.
OR
When do we consider a student sitting in the class to be myopic ? List two

causes of this defect. Explain using a ray diagram how this defect of eye
can be corrected.

11.  “9EE (9 19) T 53 399 7 |7 39 H9F I g o foTT Ir SR i g
TS | 39 T o Y@ Teh 1 A9 R gHeh! Ufqradr 1 3@ i | 3

“Biogas is an excellent fuel.” List four reasons to justify this statement.
Write the main constituent of this gas and state its percentage.

12. <faor wid < feRelt g ® @ 3 foRet 3fie o IR o wEel I ST a
& | 38 U9 7 gfg & foru orom =l § 39 e | sfte & I arn mn fe
I8 3N & T IIghl ¥ W TS B qUT STtk e § el St B 9y /@
@ |
39 feufa =1 fowerwor Shifse den sfie & el i i glg o Siefa el
&1 T % SR 1 3@ HINT | 3
In a village of South India people started cultivating crops all around a
lake. They added fertiliser to their field in order to enhance the yield.
Soon after it was discovered that the water body was completely covered
with green floating plants and the aquatic animals started dying in large
numbers.

Analyse the situation and state reasons for the excessive growth of plants
and death of aquatic animals in the lake.

13. <A argsti P, Q 3t RH, P &l Afshaar Q & &9 g @1 R ! Afsharar P 3R Q
gHl | 3 3 | g WET TRaTehey gemst g g P, Q 3R R 1 S

=l B3 WishAT < hH H safedd feran S Heha @ | 3
T

Hehll o 3TEh 1 A1 faifau | Ggfcra Tamfe aHehn 6l Fgrar § Tl

! I IEH T Asnivd 3 hl Tishan hl s I | 3

Out of three metals P, Q and R, P is less reactive than Q and R is more
reactive than P and Q both. Suggest an activity to arrange P, Q and R in
order of their decreasing reactivity.

OR
Name the ore of mercury. With the help of balanced chemical equations,
explain the process of extraction of mercury from its ore.
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14. Tt I e B i I I TR (Melt) ol § W W TH F@ent
feaferdt 81 St 8 | s B FAR-Ueehel! JfshAT T Teh I9TAE it 8 | B
TEEIHT | 39 AR & THR 1 3gW@ hivT s B AR frelt st
ATFAEE, JH ToH SEATFAEE & o9 Bl g | 38 Afulshan 1 oS
gt +ff foifam |

A dry pellet of a common base B, when kept in open absorbs moisture and
turns sticky. The compound B is also a by-product of chlor-alkali process.
Identify B. State the type of reaction that occurs when B is treated with
an acidic oxide, say sulphur dioxide. Also write chemical equation for the
reaction involved.

15. “forelt WAt % e forell a0 1 T T 38 a7 o TRHTY] GeIHM
H g | AU IuYH = AE A 2 |7 qd X (W] ShHRR 13) H
IETE bl 38 e shi gfee HIfT |

“Atomic number of an element is considered to be a more appropriate

parameter than its atomic mass for a chemist.” Take the example of the
element X (atomic number 13) to justify this statement.

W g
SECTION D

16. (a) I3 fore forelt 3T <@ & YRS g I IGh T BIhE & o9
feord 2 | s are wfdfers & =m afirereon & g=ht sHET |
(b) 20 cm WishE G o TopHl Hadet <@ g IHeh @ feurq fepelt forat o

EIE R %Tﬂ@ldl gicfers s fe@rs <t ® | o\ @ fora & gt 7
HIT |

(a)  List four characteristics of the image formed by a convex lens when

an object is placed between its optical centre and principal focus.

(b)  Size of the image of an object by a concave lens of focal length
20 cm is observed to be reduced to %rd of its size. Find the distance

of the object from the lens.
(31312, 6
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17. (a) Ry, Ry 3 Ry ufcie o o ufcgss (i) Srofisem ®, qom (i) wreeishy H
AT 8 | T Tohtul § HIAINH o god Jialg o oy seteh fofEu |

(b) 12 Q % < Houw Yfigs 3V $i et 9t o gafoa & | feam
yfeig 3R Afgehay gfclig o afomdft TFieMi gRa IUY® IIRal i
AT qiehictd hiforT | 5

STt

(a) TR P IR ATTEAFIE &THA ‘A’ o IR 3Thid o FRE =Tereh
% gfeiy R 3uh ugrd i Sgd Uieieshar & 9 dey fafa | 3@
TehT JEd Ffcieehdl &1 S.I. A Scdd i |

(b) b5m o frefl arg & arR &1 gfay 1000 7 | A W AR A

o

ITIXY-HTE HT &% 3 x 107 m? B, @ &1g 1 vfetrerehar gfepfera

HIIT | 5

(a)  Three resistors of resistances Ry, Ro and Rg are connected (i) in
series, and (ii) in parallel. Write expressions for the equivalent
resistance of the combination in each case.

(b)  Two identical resistors of 12 Q each are connected to a battery of
3 V. Calculate the ratio of the power consumed by the resulting
combinations with minimum resistance and maximum resistance.

OR

(a)  Write the relation between resistance and electrical resistivity of
the material of a conductor in the shape of a cylinder of length
and area of cross-section ‘A’. Hence derive the S.I. unit of electrical
resistivity.

(b)  Resistance of a metal wire of length 5 m is 100 Q. If the area of
cross-section of the wire is 3 x 10”7 m?, calculate the resistivity of
the metal.

18. (a) forell UHhEHM Fraehi™a & | & o oiraaq edd 9iETg! HY aree gl
Iva fohu I aTet st hi feem g e 9t fem &1 am i fem
foRem |

(b) Tergq Ao 1 AmifeRa @ Wit | 5

(a) Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed in a
uniform magnetic field which is perpendicular to it.

(b)  Draw a labelled diagram of an electric motor.

131/3/2 7 P.T.O.
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19. (a)
(b)

(a)

(b)

(a)
(b)

(a)
(b)

S foh8 Ed & 2 36 Q TRI I T SIS |
THHINTEE Sfdl it g gt § s it faemd frm wehw firm
Bl 8 ?

A

<ifires T W7 (STD) 31 Bid 8 2 Q1 Sy Sifa 3R & anre Sshivd
iR F=ia Wt hl T TAEY |

T g fRE Sgd 8 2 T MUY IURI ol S99 diF RO <l =
ERIE

What is reproduction ? List its two types.

How are the modes of reproduction different in unicellular and
multicellular organisms ?
OR

What are Sexually Transmitted Diseases (STD) ? List two viral
and two bacterial STDs.
What is contraception ? List three reasons for adopting
contraceptive methods.

20. TIEATCHS THEATHS R B & ? THEATH I o IR ANALN hl Tt FRT |
A I HTFAT TG G |
What are structural isomers ? List any four characteristics of isomers.
Draw the possible structures of butane.

21. (a)
(b)

(a)

(b)
(c)

(a)
(b)

317312

feforeemam arfyfsran fore wrad 8 2 Torelt Semewor wfga =men Hifsw |
foret <ot § $© It ol 3T forT g3 T <t $© 9T et it R
() B arelt Srfifshan w1 AW SR 3Heh! gl faifey |
(i) I AGRAT 1 TfeTa T THieRo 3§94 aTel 3cdTg

&1 qERS am fafEu |
(i) 39 31fufsham & gt wg@ Yeavn <t TRt T3 |

YT

e Aeee it ued (fornem) erfufsren =t faehfa & & fau foeht
foRameRaTy i AftreReuHT Hifs |
TR SAGEAT 1 AHIhd JTRE Tt 31 TH@ J&0l hi gt ST |
Al 3 Icaral 1 fifass TEweT F1 IP@ HA §Y B el
JATYTSHAT ST AgfeTd T FHietor fafEu |
What is a double displacement reaction ? Explain with an example.
A small amount of quick lime is added to water in a beaker.

1) Name and define the type of reaction that has taken place.

(i1))  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

(111) List two main observations of this reaction.
OR

8
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(a) Design an activity to demonstrate the decomposition reaction of
lead nitrate.

(b)  Draw labelled diagram of the experimental set-up. List two main
observations.

(¢)  Write balanced chemical equation for the reaction stating the
physical state of the reactant and the products.

g
SECTION E

3@ H ST Y FleeHiel o T R fo=r HIfT 3R fefafied et & W
Qfve

15
0 3.0
Vv
(a)  dlceHIEX T 3ToUdHIeh 41 & ?

(b)  dlceHIET T IISATH 1 & ?
(c) dfe I8 dicediet foret 20 Q & Ufelius & B/ & gaifo 8, @) gfatass
g forafi g yafga 1 @ 2 2 2

Consider the scale of a voltmeter shown in the diagram and answer the
following questions :

1-5

\%

(a)  What is the least count of the voltmeter ?

(b)  What is the reading shown by the voltmeter ?

(c) If this voltmeter is connected across a resistor of 20 Q, how much
current is flowing through the resistor ?

9 P.T.O.
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23. forelt ey fora o1 wldfors ume whtes foU U sterdet qdur <t |feehe wiskd gl
fraif@ s < ST @ S i fafe < =wen 6 shHar g 9T |

AT

forel B 1 TUad v % IR fafie 9 & fT i & IR e 3@
TSR dTeft TehTsT fohtor 1 Ut STRRed T 3 |

(a) 9 SN <l Q1 Hgwaqul |Gl Al g ST |
(b) 38 TN W TG B g fehret T g skt it g=ht sy |

List in proper sequence the steps of the experiment for determining the
approximate focal length of a given concave mirror by obtaining the
image of a distant object.

OR

A student has to trace the path of a ray of light passing through a
rectangular glass slab for four different values of angle of incidence.

(a)  Write two important precautions for this experiment.

(b) List two conclusions the student will draw based on his
experiment.

24, UIATEH A & 1 feu MU quret 1 STeRE i a9 9 S faseed fepre
Ih! Fﬁﬁ 415U
(a) g
(b) S foorar
(¢ Totewd v3 w yumE
(@) Tfsam gEgiom S & oy rfufsn

List the conclusions you will draw while studying the following properties

of ethanoic acid :

(a)  Odour

(b)  Solubility in water

(c) Effect on litmus paper

(d)  Reaction with sodium hydrogen carbonate

317312 10
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25. @ fieRdl § FE Fehe & foeem R oW T w § HR i B o g H
tgfufem 6 ot Sem % A 1 =S % gzeTq @ Jeer g 2 A W d g
Uierdd I ST 8, df 8 arefl IffshaAr o AW qen AffshAr 1 TEfe
gt oft fafau |
Srera

1 D BE Towhe fsheed aot forgved (faem) erferfspen =1 srem e
IEAT 2 | 39 TN Bl Hid THY 3Tk g sTdl ST aTeft & gradn=at e |

What is observed after about 1 hour of adding the strips of copper and
aluminium separately to ferrous sulphate solution filled in two beakers ?
Name the reaction if any change in colour is noticed. Also, write chemical
equation for the reaction.

OR
A student wants to study a decomposition reaction by taking ferrous
sulphate crystals. Write two precautions he must observe while
performing the experiment.

26. TYl 1 YU i & T it o fSreh 1 ARl ARYY AR K % Y= H
FH A & (A & 3T gal 1 39N hid & | 39 2di & 4 fafge ok
39 IV 6 I 2a e 3T =1 9= fohu o B |

AT

3 =R gEgrE H 3t wE # g s S 91w g9 Ut W foerh @
STEUTRY STIY IR hld TAT hd & |

In the experiment of preparing a temporary mount of a leaf peel to
observe stomata, we use two liquids other than water. Name these two
liquids and state when and why these liquids are used.

OR
List four precautions in proper sequence which we observe while
preparing a temporary mount of a leaf peel.

27. Tt 8@ 9 “veama #i @g # CO, et 87 @l o€ % 9w IueRt
A L T 8 | T 1 992 % 99ETq 98 eht™ et § St o add H hlg
= &} 91T | TN <hl AAHAT o AT IOl fARa |

A student has set up an apparatus to show that “COq is released during

respiration”. After about 1 hour he observes no change in the water level
in the delivery tube. Write two possible reasons for the failure of the
experiment.

131/3/2 11
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SET-3
. @I .
Series JMS/3 code no. 31/3/3
T .
Roll No. ?%@%ﬁ T e

Candidates must write the Code on the
title page of the answer-book.

FUA AT WA TP IE-H I GGd B 11 2 |

JH-9F | gifed g1 il AR fu MU e TR S B IW-YREh % @98 W
ford |

FHIAT A B A Toh 30 AT H 27 T & |

AT T 6T I TT@T & T 8 Ugel, T &1 /AT Havd T |

3 YU hl UG o AU 15 e o1 wua feam mn R | S o foraw
gaiE § 10.15 St TR ST | 10.15 91 & 10.30 91 0% BT hadl SA-T3 ol
Ut 3T 30 31afY o A o ITR-YFederT W hig I T8l fore |

Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer
on the answer-book during this period.

fasm=

SCIENCE

FeiRa 77 : 3 T2 SfeHaTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

34 J97-Y7 %1 Giel Y777, 3, &, G, ¢ 3N T H FieT T 3 | 9] @4 9T &
o] & IR forad & |

Tt go7 ST & |

YT &, &, 7 IR T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 G&IT 1 3K 2 TH-TF 3% & Y97 & | 398 I U Ieg 7Ial
T JFTH 378 )

T F & J97 G&IT 3 & 5 31-31 37hl & F97 & | 579 I TTHT 30 Jeg] i
F378 1

YT G & Y97 &I 6 & 15 AH-d17 37l & I3 & | 598 I TTHT 50 Jse)
JdH G 7 8 |

YT 7 % 97 G&IT 16 T 21 i9-9i9 37h] & I3 & | 598 I FTYHT 70 5!
Jdb § 378/

YT T 3 Y97 G&IT 22 G 27 FINTIHF FHI9eT T SR -2 371 & J97 8 |

5% G I T 8/

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A

1. 1 ferettare =ver <A1 gftam fafew | 1
Define 1 kilowatt hour.

2. UHA: B9 Wihfdeh diamsi R sfiell il wHE T A g TRl
St i Fafid 96 I Teavashdr g 8 | w4 2 1

Generally, we do not clean natural ponds or lakes but an aquarium needs
periodic cleaning. Why ?

o
SECTION B

3.  SU-gERIAT % & HRU gEiEg HINT | 39 g QY % FiEd o g 3w
B 9T @Y Rl I 3Tg Wi | 2

List two causes of presbyopia. Draw labelled diagram of a lens used for
the correction of this defect of vision.

4.  TARMA % TR R NayO ST goIsy | 2
Show the formation of NagO by the transfer of electrons.

5. e fshaT 3R e < &= & 3T=al <hl QTicTeh] o €9 H FAT ST | 2
Srerat
ufe ot fefeem & &9 g1 ofadi ! aTfcTehl & &9 § = 99T | 2

List in tabular form two differences between reflex action and walking.
OR
List in tabular form two differences between pepsin and trypsin.

e
SECTION C

6. IR oAt & folu riehet 39T B areft wfshan @1 am fafew | saeht Gaw
¥ e e | Saredt St o T W AR S0 R T HE b
AT T FAT FET | 3
Name the process used to harness nuclear energy these days. Explain it
briefly. List two advantages of using nuclear energy in place of fossil
fuels.

131/3/3 3 P.T.O.
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7. & & S fafaga w1 fafise To@” s A ST R 2 91 % e % fae
IR 3UT ST |

Why are forests considered “biodiversity hot spots” ? Suggest four
approaches towards the conservation of forests.

8.  UIOU{¥ 3TYadH fhd ThEd & ? TMIfehd ARG <hl! HEEAT ¥ =T hifay fh
TR | fe@ts & are foreht ar R feufa seeht areatees fedfa €t it 2 |
Srera
HelT H oS Tohel BT Sl I §H hd had & 1 I8 Hhe-gse aN | difsd & 239
TN % G BRI hl FAT ST | fohTuT 3TR@ T ITAN Hieh =7 & 39 Q¥

MY o IUM <hl AT hIfoTT |

What is atmospheric refraction ? Explain with the help of a labelled

diagram that the position of a star as seen by us is not its true position.
OR

When do we consider a student sitting in the class to be myopic ? List two

causes of this defect. Explain using a ray diagram how this defect of eye

can be corrected.

9.  o1ad W (IH 1 FIST) T TS g3 fIRaT | 389 < |t ¥ fohd Tohr
TTed RIS Tehal B 2 USG9 o Ifdieh 37 391 o T 914 & HIg
SR KA AT G SA hl T TR |

Write the chemical formula of washing soda. How can it be obtained from
baking soda ? List two industries in which washing soda is used for other
purposes than washing clothes.

10. <9 argsti P, Q 3R RH, P &l Afshaar Q & &9 g d1 R ! Afshaar P 3R Q
gl O AT B | hIg W fhamehea gEmse frmek g P, Q 3R R &I SR
T g3 AshAAT o SHH H SAATEAT oA ST Hehell @ |
JrqaT
Hehll o 3TIWH I AW [IRGT | Ffcld TET-e THIHUN ohl FERAT & il
! 3T IAEH A fAshida = 6 gfshan i smen i |

Out of three metals P, Q and R, P is less reactive than Q and R is more
reactive than P and Q both. Suggest an activity to arrange P, Q and R in
order of their decreasing reactivity.

OR
Name the ore of mercury. With the help of balanced chemical equations,
explain the process of extraction of mercury from its ore.

31/3i3 4
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(a)  Torelt TRETY] o SoTaReiT-eh [owaITE GRT 38eh dvdl shl WYTad HASTehal fohd
YRR FYif <l STt | 2
(b) et axa X, ForerehT wRuTo] shuTeh 15 8, ht GISeRan fuffa Shifse | 3

(a) How is possible valency of an element determined from the

electronic configuration of its atom ?
(b)  Determine the valency of an element X whose atomic number is 15.

12. gl #2182 gAR IR 4 Eenctss At =gar () % aRomt w sge
HIT | 3

What is haemoglobin ? State the consequences of deficiency of
haemoglobin in our bodies.

13. Ti=fafgd i samen Fifve . 3

(a)  STfd-3gued
(b) TRl ==

AT

e 4 "X o Wi o A1 R T T A ¥ UH YA H WA S Al 3R
Fiier S Tt 7 & Wyt i fIfvs foredi 1 TRt HUe | 39 TR0 g F,
3R F, dIt T 99 Wl o BUSA & YU 1 SRV Tlgd Ig@ HINT | M it
& Afdi<s Avsd g 399 YT § 39 fohu T fohegl @ fauatet (foremed)
AU Il HX o et Y g off SIS | 3
Explain the following :
(a)  Speciation
(b)  Natural Selection

OR

Mendel, in one of his experiments with pea plants, crossed a variety of
pea plant having round seeds with one having wrinkled seeds. State
Mendel’s observations giving reasons of F'; and Fy progeny of this cross.
Also, list any two contrasting characters, other than round seeds of pea
plants that Mendel used in his experiments.

14,  SffoeioH 61 Sl Tean &t § i o foraved & uei &1 =ame Hife | 3

Explain the ways in which glucose is broken down in absence or shortage
of oxygen.

131/3/3 5 P.T.O.
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15. difeteht & &9 § yAfeash R ufeass & ffw dF fadeTsit aevn i gt
ST |

List in tabular form three distinguishing features between cerebrum and
cerebellum.

"I 3
SECTION D

16. (a) TISEIhIeA fhH HEd & ? TR Teh Q& G |
(b)  WcUh % Gl IGTE od U FJH BISGIeplaA 3T FHIH BISGIhIeA & o4
T =X 2o |
(¢) T=feiRaa Hifient & am fafau
i) CH,-OH

H
.. 7
(i) CHg- C%O
(iii) CHg- (”3 — CHj,
0]
O

I
(v) CHy-C-OH

(a)  What is a hydrocarbon ? Give its one example.

(b) Give the structural difference between saturated and unsaturated
hydrocarbons with two examples each.

(c) Name the following compounds :
(1) CH; - OH

H
.. 7
(i) CHg- C%O
(i) CH;- (”3 — CHj,
0]
O

Il
(v) CHy-C-OH

31/3i3 6
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17. (a) Tefoemua arfiyfsran ford sad 8 2 fordt IeTator wfed e hIfsT |
(b)  Toreht sfieRt o ot iRt SEH fortt 931 =3 <t o AT fies T R
(i) B ol Affshar 1AM 3 IHeh aftwm fefag |
(i) 3T AMufR 1 Fgfora TEET HIRET R §94 910l 341G
T TEEHS 9m fafay |
(i) 39 AT & &1 yg@ Jeon i TR SR | 5
ST

(a) <8 gee it qumeq (faaem) erfufshan =t Fgfia o & fo fereft
foramerarTa 61 3rfirhed FifST |

(b) TR e 1 ATHifehd @ e & JUE Jequni i Tt S8 |

(c) AfiepHe 3R Icqtal h Wifder 3fe®el 1 3@ Hd gL BH dral
arffshan &1 wgfcta Tt e fafEu | 5

(a)  What is a double displacement reaction ? Explain with an example.

(b) A small amount of quick lime is added to water in a beaker.
1) Name and define the type of reaction that has taken place.

(i1))  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

(iii) List two main observations of this reaction.
OR

(a) Design an activity to demonstrate the decomposition reaction of
lead nitrate.

(b)  Draw labelled diagram of the experimental set-up. List two main
observations.

(¢)  Write balanced chemical equation for the reaction stating the
physical state of the reactant and the products.

18. (a) I3 [oF 20 cm HIhH G % ToRHT 3TAA T % ThITNTh g 8 40 cm
gl W fed B | o ATt wiftiforrs o =R stfirereron st e SISy |

(b) 20 cm BIHE O % forel I oi| g1 3ueh wd feord fopefl forrat 1
Wﬁ%w@auﬁﬁwwﬁ@é%% | F % JehIfh g |
ferzer sht gt 3ma <hIfC | 5

(a)  List four characteristics of the image formed by a concave lens of
focal length 20 cm when the object is placed at a distance of 40 cm
from its optical centre.

(b)  The size of image of an object by a convex lens of focal length 20 cm

is observed to be reduced to %rd of its size. Find the distance of the

object from the optical centre of the lens.

31313 7 P.T.O.
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19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Ry, Ry 3 Ry ufatidt & < wfcierss (i) softshm o, e (ii) qredshn o
AT 8 | Tceh Tohtul § HAISH o god Ty o Ty =eieh fofEu |

12 Q &% 3 gded falgs 3V i fordt s @ wanfoa 8 | Feram
gieig iR fehaw wioliy < IROmd GISHl gRI IUYTE WRRAT oh1

1A UTEhleTd ShifTg |
HAAAT

TETE P IR ATIEI-FIE FABA ‘A’ h AR R o Tehefl =Teren
% ity 3R 3mek ggred f Iga Sfivshar & = dey fafew | 5@
YR AT Ifciegehdl 1 S.1. AT cud iU |

5m o fRefl arg & AR & gfay 1009 ® | A W AR A

o

ITIXY-HTE HT &% 3 x 107 m? B, @ a1g H vfetrershar gfepfera
hITTT. |

Three resistors of resistances R;, Ro and Rg are connected (i) in
series, and (ii) in parallel. Write expressions for the equivalent
resistance of the combination in each case.

Two identical resistors of 12 Q each are connected to a battery of
3 V. Calculate the ratio of the power consumed by the resulting
combinations with minimum resistance and maximum resistance.

OR

Write the relation between resistance and electrical resistivity of
the material of a conductor in the shape of a cylinder of length /’
and area of cross-section ‘A’. Hence derive the S.I. unit of electrical
resistivity.

Resistance of a metal wire of length 5 m is 100 Q. If the area of
cross-section of the wire is 3 x 10”7 m?, calculate the resistivity of
the metal.

foreht TehEm Frehia & B &89 o areeq fEud gieTgt €Y =Tt g
IYa fohu I aTet st hi feem gt e 9Tt fm &1 9w i fem
fafau |

foIq HIet 1 THIfhd 3TR@ Wi |

Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed in a
uniform magnetic field which is perpendicular to it.

Draw a labelled diagram of an electric motor.

8
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21. (a) S TR8 S&Ed & ? 8% &l JW i T TAET |

(b)  THHIRERE Al R TgeplRIeh Sial § S ol faumd fore yepr fim

Bl 8 2 5
AT
(a)  ifireh "= T (STD) AT &ld & ? &1 Y] S 37 31 SR Eshiid
iR F=ia Wt <Al T TR |
(b) T TRy fre Fgd & 2 W FRius UM Sl STIAH o FF SR HI
EEIE 5

(a)  What is reproduction ? List its two types.

(b) How are the modes of reproduction different in unicellular and
multicellular organisms ?

OR

(a) What are Sexually Transmitted Diseases (STD) ? List two viral
and two bacterial STDs.

(b) What is contraception ? List three reasons for adopting
contraceptive methods.

T T

SECTION E
22. T T YU K o W Uil o focdeh o1 STEARN STI0 9”& o T |
T A & (AR @ 3T gal 1 39 i & | 31 2di & 4w fafEe ik
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In the experiment of preparing a temporary mount of a leaf peel to
observe stomata, we use two liquids other than water. Name these two
liquids and state when and why these liquids are used.

OR
List four precautions in proper sequence which we observe while
preparing a temporary mount of a leaf peel.
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A student has set up an apparatus to show that “COq is released during

respiration”. After about 1 hour he observes no change in the water level
in the delivery tube. Write two possible reasons for the failure of the
experiment.
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Consider the scale of a voltmeter shown in the diagram and answer the

following questions :
1-5

\%

(a) What is the least count of the voltmeter ?
(b)  What is the reading shown by the voltmeter ?

(c) If this voltmeter is connected across a resistor of 20 Q, how much
current is flowing through the resistor ?
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List in proper sequence the steps of the experiment for determining the

approximate focal length of a given concave mirror by obtaining the
image of a distant object.

OR

A student has to trace the path of a ray of light passing through a
rectangular glass slab for four different values of angle of incidence.
(a)  Write two important precautions for this experiment.

(b) List two conclusions the student will draw based on his
experiment.
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List the conclusions you will draw while studying the following properties
of ethanoic acid :
(a)  Odour
(b)  Solubility in water
(c) Effect on litmus paper
(d)  Reaction with sodium hydrogen carbonate
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What is observed after about 1 hour of adding the strips of copper and
aluminium separately to ferrous sulphate solution filled in two beakers ?
Name the reaction if any change in colour is noticed. Also, write chemical
equation for the reaction.

OR
A student wants to study a decomposition reaction by taking ferrous
sulphate crystals. Write two precautions he must observe while
performing the experiment.
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